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QUESTION 1

Which statement describes the function of screen options?

A. Screen options encrypt transit traffic in a tunnel.

B. Screen options protect against various attacks on traffic entering a security device.
C. Screen options translate a private address to a public address.

D. Screen options restrict or permit users individually or in a group.

Correct Answer: B

QUESTION 2

What are two valid network prefixes in address books? (Choose two.)
A.172.16.3.11/29

B. 172.16.0.0/16

C.172.16.3.11/32

D.172.16.3.11/24

Correct Answer: BC

QUESTION 3

Click the Exhibit button.

uszserifhost> show security flow session
fession ID: 30059, Policy name: ALLOW #3H/18, State: Active, Timeout: 1790,
Valic

In: 1.1.1.1/593837 ——+= 1.1.1.123/22;tep, If: ge-0/0/3.0, Pkts: 17, Bytes:
3625

out: 10.200.103.100/22 --= 1.1.1.1/59837;tep, IZ: rethl.l10Z, Pkts: 1&,
Bytes: 3Z53

Total sessicns: 1

Referring to the exhibit, which type of NAT is occurring on the SRX Series device?
A. source NAT without PAT

B. destination NAT with PAT



C. source NAT with PAT

D. destination NAT without PAT

Correct Answer: B

QUESTION 4

Which two statements are correct about establishing a chassis cluster with IPv6? (Choose two.)
A. Only an active/passive cluster can be deployed.

B. Dual-stacked interface addresses are allowed.

C. IPsec site-to-site VPNs over IPv6 are supported.

D. IPv6 address book entries can be used.

Correct Answer: BD

QUESTION 5

Which configuration keyword ensures that all in-progress sessions are re-evaluated upon committing a security policy
change?

A. policy-rematch
B. policy-evaluate
C. rematch-policy
D. evaluate-policy

Correct Answer: A

QUESTION 6

Which two statements are true about pool-based destination NAT? (Choose two.)
A. It also supports PAT.

B. PAT is not supported.

C. It allows the use of an address pool.

D. It requires you to configure an address in the junos-global zone.

Correct Answer: AC




QUESTION 7

What is the default session timeout for UDP sessions?
A. 30 seconds

B. 1 minute

C. 5 minutes

D. 30 minutes

Correct Answer: B

QUESTION 8
Which two statements are true about route-based VPNs? (Choose two.)
A. Route-based VPNs cannot be used to configure remote access or dialup VPNs.

B. The from-zone and to-zone, for a security policy to permit traffic over a route-based VPN, are derived from the zone
in which the protected network lies and the zone in which the IKE interface lies.

C. system services ike must be enabled on the st0.x interface.

D. You cannot re-write the DSCP bits on the inner IP header of an ESP packet that was created or forwarded using a
route-based VPN.

Correct Answer: AD

QUESTION 9

What are three types of reconnaissance attacks? (Choose three)
A. IP address sweep

B. Port scanning

C. Denial of service

D. IP options

E. Teardrop

Correct Answer: ABD

QUESTION 10
Which three actions can a branch SRX Series device perform on a spam e-mail message? (Choose three.)

A. It can drop the connection at the IP address level.



B. It can block the e-mail based upon the sender ID.

C. It can allow the e-mail and bypass all UTM inspection.

D. It can allow the e-mail to be forwarded, but change the intended recipient to a new e-mail address.

E. It can allow the e-mail to be forwarded to the destination, but tag it with a custom value in the subject line.

Correct Answer: ABE

QUESTION 11

Which two statements are true for both express antivirus and full file-based antivirus? (Choose two.)
A. Signature updates of the pattern database are obtained from Symantec.

B. Intelligent prescreening functionality is identical in both express antivirus and full antivirus.

C. Both express antivirus and full file-based antivirus use the same scan engines.

D. The database pattern server is available through both HTTP and HTTPS.

Correct Answer: BD

QUESTION 12

You are asked to set up a chassis cluster between your SRX Series devices. You must ensure that the solution provides
both dual redundant links per node and node redundancy.

Which setting should you use?
A. aggregated Ethernet

B. redundant Ethernet

C. aggregated Ethernet LAG
D. redundant Ethernet LAG

Correct Answer: D
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